1/0 do/dN

Ratio to ATLAS

1072

1073

[EEY

0.5

00 GeV pp Soft QC
uf L L Y Y I O I O O B B B - )
~ L 15
B Charged multlpI|C|ty(NCh >6,p_>0.5GeV) 13
=
—— —] N
= SN
— A
- —c
- & =
i
|k e
= el
- Yoy -
B Ry |
= s N
- s 18
N Yag 18
m  ATLAS ™ “
= - o- Pythia 6.428 390 AN L
= - 8- Pythia 6.428 391 RN 1
| -+-- Pythia 6.428 392 1%
| --+-- Pythia 6.428 396 :Q"\\\g _ls
= --%-- Pythia 6.428 397 3c
—  --v-- Pythia 6.428 398 ¥ 48
)
- e
o
= =R
S D D S ST b
— 42
. | ]
C S8 gm0 e 0 14
— ’F*y—;—;**‘*’***‘ !‘¥"¥r _ e ':'g .
B el ]
L \Eki\ | 05
1 1 " | " 1 1 1 1 " | " 1 1 1 1 " | " 1 1 1 1 " | " I\\?\\:Tiu 1 1 " |
10 20 30 40 50

ch



	Contents
	Page 1


